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1.8. Practice Lesson №3_№4. Integration of the linear 

equations and Integration of the Bernoulli’s 

Equations 
 

Classwork Answers 

Find the general solution of the equations: 
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Solve the initial-value problem: 
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Homework Answers 

Find the general solution of the equations: 
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Solve the initial-value problem: 
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Additional Tasks  

3.14. Find the line if it is known 

that ordinate of any point of tangent 

line in two times less than abscissa of 

the tangency point. 

2ln  xxCxy . 

1.10. Practice Lesson №4. Integration of the 

Bernoulli’s Equations 
 

Classwork Answers 

Find the general solution of the equations: 
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Homework Answers 

Find the general solution of the equations: 
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